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     Name:  

      Class & Section: 

Q.No. Questions Marks 

 Multiple Choice Questions 

(Choose the correct answer) 

 

1 c)4900 1 

2 c)13.1 1 

3     d)1331 1 

4     b) 7 1 

5 a) ₹1 1 

6       𝑐) 6𝑎2𝑏 1 

 Fill in the blanks  

7 25 1 

8 15  1 

9 ₹13000  1 

10 2𝑥2 1 

 Short answer type questions  

11 

 

2 



12 

 

2 

 Long answer type questions  

13 Principal = ₹2000 

Amount = ₹2360 

Interest = ₹360 

SI=
𝑃𝑇𝑅

100
 

₹360 = 
2000×𝑇×9

100
 

T= 2 years 

3 

14 Show that 𝑥 + 1 is a factor of 4𝑥3 + 2𝑥2 − 𝑥 + 1 

When we divide 4𝑥3 + 2𝑥2 − 𝑥 + 1 by 𝑥 + 1, the remainder is zero. 

Therefore, 𝑥 + 1 is a factor of 4𝑥3 + 2𝑥2 − 𝑥 + 1 

3 
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